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HOLIDAY PACKAGE FORM THREE 2020
PHYSICS 1
       INSTRUCTIONS;
1. This paper consists of section A, B and C with total of eleven (11) questions

2. Answer all questions in section A and B and only TWO questions from section C.

3. Cellular phones and any unauthorized materials are not allowed in the examination room but the use of non-programmable calculators is allowed in the examination room. 
4. Write your examination number on every page of your answer sheet(s).
5. Where necessary the following constants may be used:

(i) Acceleration due to gravity g=10n/[image: image2.png]


 or 10N/kg.
(ii) Specific heat capacity of mercury is 1395 J/kg[image: image4.png]



(iii) 1g of water is equivalent to 1[image: image6.png]



(iv) Pie, π=3.4.
SECTION A (15 Marks)
Answer all questions in this section.

1. For each of the item (i) - (x), choose the correct answer from among the given alternatives and write its later beside the item number in the answer booklet provided

(i) The correct formula to find the Resistivity of the material is

A. [image: image8.png]e



                                     B.  [image: image10.png]


                  
C.   [image: image12.png]


                                   D. [image: image14.png]


              
E. [image: image16.png]



(ii) Why oil as used as a lubricant?
 A. It is high viscous              B. It is low density

                    C. It is flammable                 D. It is less viscous 
                    E. It is inflammable

(iii)   One advantage of the bimetallic thermometer is that:

A. It can measure a low range of temperature than liquid in glass thermometer.

B. It can measure a much wide range of thermometer than liquid –in –glass thermometer.

C. It is a metallic instrument.

D. Its spiral curl in the clockwise direction over a calibrated scale
(iv) What quantity of heat is required to raise the temperature of 25kg sample of mercury from 20[image: image18.png]


 to 30[image: image20.png]


?
                     A. 1,743,750J                     B. 348,750J   
                     C. 345,750J                        D. 1,550,750J     
                     E. 413,750J

(v) Which of the following is an example of a scalar quantity?

A. Electric current                  B. Force 
C. Velocity                              D. Displacement  
E. Acceleration

(vi) In a physics laboratory, the depth of the objects can accurately be measured by

                      A. Tape measure                    B. Vernier calipers  
                      C. Meter rule                          D. Micrometer screw gauge

                      E. Measuring cylinder

(vii) The zig-zag path traversed by electrons from a negative charged cloud towards a positively charged one is called

                       A. Thunder                           B. Field emission  
                       C. Rader                               D. Lightning   
                       E. Battery 

(viii) When a dynamo of bicycle is rotated by a wheel, there is a transformation of energy from.

A. Electrical energy to mechanical energy    
B. Mechanical energy to heat energy

C. Electrical energy to heat energy            
D. Mechanical energy to electrical energy
(ix) A physical phenomenon observed when a tea bag is clipped into a cup containing hot water is
A. Diffusion                                B. Membrane  
C. Capillarity                               D. Surface tension  
E. Hooke’s law
(x) Which of the following is an example of third class lever?

(a) Scissors                                     (b) Fishing pole 

(c) Pliers                                         (d) Nut cracker
2. Match the items in list A with the responses in list B by writing the later of the correct response beside the item number in the answer booklet provided 
	LIST A
	LIST B

	(i) Materials that can be strongly magnetized 

(ii) Substance which are made up of soft iron

(iii) Material that cannot be affected by magnets 

(iv) Object which are made up of steel

(v) Group of magnetic dipole arranged themselves in magnetic object
	A. Paramagnetic
B. Temporary magnets
C. Zinc and copper

D. Permanent magnets

E. Magnetic Domains

F. Earth’s magnetic field

G. Induced magnetism
H. Magnetization

I. Demagnetization

J. Permeable

K. Neutral point

L. Ferromagnetic

M. Magnetic field


                       SECTION B (60 Marks)

              Answer all questions in this section
3. For each of the item (i) –(x), fill in the blank space by writing the correct on the answer 

Sheet provided.

(i) Example of a most available sustainable energy source is ______________

(ii) In the laboratory , materials which can break easily are known as ___________

(iii) Objects which emit light when they are hot are called _____________

(iv) Materials which do not obey Hook’s law are known as ____________

(v) The resistance of a body to change its  state of rest is called ____________

(vi) Silvering the double walled glass of a thermos flask minimizes heat loss by ______

(vii) ____of water is the decrease in the density of water as it is cooled from 4°C to 0°C

(viii) The ratio of the mass of a body to its volume is called ____________

(ix)  ________is water in form of droplets that appear in on exposed object in the morning or evening.

(x) The formation of  hydrogen bubbles on the zinc plate ________________
4.   (a) (i) State the Archimede’s principle

     (ii) Give three conditions for a body to float on the fluid.

(b) Differentiate between the real weight and apparent weight of object as applied in 
     physics

(c) A solid weights 64N in air and 48N when totally immersed in a liquid 0.8g/cm3.     

    Calculate the:

(i) Upthrust on the solid

(ii) Volume of the solid

(iii) Density of solid

5. (a )Define the following terms 

(i) Force                       
(ii) Pressure
     (b) (i)  Briefly explain, when does a force become weight?

          (ii)  A car of mass 1200kg is brought to rest by a uniform force of 300N, in 80   seconds. What was the speed of the car?

     (c) A rectangular of wood block of density 200kg/m3 has dimensions 0.3x0.5mx6.0m
(i) Calculate the maximum pressure it can exert on the ground. How it is experienced?
(ii) Calculate the minimum pressure it can exert on ground .How can this be observed?

6. (a) Explain the following 

(i) Most materials become less dense as the temperature is increased 
(ii) Latent heat of fusion and latent heat of vaporization are “hidden”

(b) (i) Mention three(3) difference between temperature and quantity of heat

    (ii) What is the use of clinical thermometer?

(c) In a mercury centigrade thermometer, the distance between 00c point and 200c point is 4cm .What is the distance between 00c point and 1000c point?
7. (a) Give the meaning of the refractive index of material

 (b) (i) The refractive index of light passing from water to air is[image: image22.png]


. Calculate the critical angel.

      (ii) Outline two differences between primary and secondary rainbows.

 (c) In figure below, identify the names of colors labeled A, B, C, D, E, F and G.

 SHAPE  \* MERGEFORMAT 

[image: image23]

8. (a) State four differences between boiling and evaporation.
         (b) (i) Define and give the SI unit of a coefficient of linear expansion. 

             (ii) Find the coefficient of expansion of the metal if the metal pipe which is 1m long 

                  at a temperature of 400C increases in length by 0.3 % when carrying the steam at  

                 1000C
SECTION C (25 Marks)

Answer only TWO (2) questions from this section.
9. (a) Define the following term:

(i) Heat

(ii) Temperature
(iii) Specific heat capacity of a substance 

         (b) Briefly explain why a cold bottle brought into a warm room, it becomes misted over  
         (c) (i) Mention three factors that determine the heat content of a substance.

             (ii) A piece of copper of mass 40g at 2000C is immersed into a copper calorimeter 

of mass 60g containing 50g of water at a 250C. Neglecting heat losses, what will be the final temperature of the mixture be? 
10. (a)  (i) Give at least two advantages and disadvantages of friction

      (ii) Briefly describe the main two types of friction force.

           (b)  (i) What is coefficient of friction?

                (ii) Draw a free body diagram to represent all the forces which act on the moving 
                     box at a rough surface pulled by a force F.

      (iii) A box of mass (m) 2kg rests on a horizontal surface. A force of 4.4N is required 
    to just start the box moving. What is the coefficient of static friction between      the block and the surface?

11. (a) Define each of the following terms

(i) Electric potential difference

(ii) Electromotive force
          (b) (i) Give four (4) factors that affect the resistance of a conductor

 
      (ii) What is resistivity?

 
     (iii) A battery of unknown e.m.f and internal resistance “r” is connected in series 
with an ammeter and a variable resistor R. The current in the circuit was found to be 2.0 amperes when the value of R was 4.2 ohms and 1.5 amperes when the value of R was 6 ohms. Determine the values of e.m.f and r.
******************* Best Wishes ******************
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